I TIFE KR F
20134 FF o 5 5 AR FEL A (17 hR)

YilH: zhangwei
201343 21 H

B F R HE 5 (65%Y)

1,(15")4%4E FERR 5%, 348 ).

2,15 )% f(x)Fmg(x) 2 F[x]¥ 49 % AKX, a,b,c,d € FFw% ad — bc # 0,7F
4(f(x), g(x)) = (af(x) + bg(x), cf(x) + dg(x))

3,20\ VARLEMH FRLLMER, Vi, V,RVEAATF =1,

BB dim(Vy + Va) = dim(Vy) + dim(V,) — dim(Vy () Va)

4,(15)ARnMF %, JE8A: HAE4EM4B,Cs.t.A = BC

BT HC = C2

BT AT E 7~ (857)
5,(15) R f(x, y) = (x + y)e =) e 414
6,(15’)i+§@?ii§7fﬁéy\fff(x + y)dxdydz ¥ VEz=x*-y*,z=0,x=1Ff
14

B 4R AR,
7,(15")K f(x) = arctan xfx = 089 Taylorhdk, it 5

i (-1)F
2k +1
k=0

8,(15) A B e A /F T, 12143 % 549 & Riemann — Lebesque™T #2,
Je s TAT H 4 Bp TR sb AL

9,(25") f(x)ER Lit 4k, ﬂlx‘li_)r&o f(x) = A(H FR4K)

()AEA: fO)ER E—E k4,

(2)¥n € (0, m)AEBA: F,(x) = fn " f(x + f)sinntdt FER L5 E % 4,

(3)iE: F,(x)fERE—E I 8TF0



